11.022]

Measurement

WALT SO[VG lengH‘» WOFC[ Problems.
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Read Hw WOF(J, Problem. Idenhﬂj H‘»e lengH‘» Of H‘»e first number. AC[(J, Hw second number ITO

Flnd Hw answer. BOHUS Cha”enge—These numbers are higher Hw,n H’Le lengH’n Of a ru[er.

Two dlgil number addilion.

Fred's car was 40cm long. Tim's car
was ||cm [onger. Whoi was H’LC lengH‘m

OJ.‘ Tim's co,r?

Example-

40cm + ||cm = 55cm

So,ndra's Pencil was 34cm [ong.
RUBH,S Pencil was |50m longer. \/\”10,17
was H’le lenng OJ.‘ RubH,S Pencil?

Imro,n's l’)OOI( was 4qcm long. Kim's

book was [5cm longer. Whal was the
lenng of Kim's book?

ROSC'S cushion was 57cm long. SITCHO'S

CUSl’liOI’l was |4cm longer. \/‘”'LOIT was

Hw lengH’» OJ,' Ste”a,s cushion?

Bill'S ITUCI( was 55cm long. Ben’s kruck

was |8cm longer. What was Hw lengH‘» OJ.'
Ben’s lfi"UCl(?

Shanice's stick was 66cm long. Esther's
stick was |7cm longer. What was the lengkh

of Esther's stick?




